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sSsE 29 37,700 41,660
dSEYR N 27,700 31,660
201 Let24E] 23,200 23,200
01 AFR2telHl 23,200 23,200
OABNAMOIH(RHEHNSS, A& 22l)
50,0002 *3408t A 17,000
ONSXUHEEST 2201 2
3002 *10,000% 3,000
OXNsSXH,ALIH 2 U2 (UEHE S)
50,000& »648f A 3,200
203 ¥R =&l 2,000 1,000
03 Al =T YR =& 2,000 1,000
OXNTSE U NSAB2 UAAL =X 1,000
OREE Xeg Atdxel UGS = 1,000
301 gEtE A= 2,500 2,460
2IIEtEd= 2,500 2,460
OBl TUHASAL 5 24
5,000 x2H %2502 2,500
AAESEW FA 23 EH 10,000 10,000
TAIEHI &R0 10,000 10,000
01 A& HI 10,000 10,000
OXEsSEL A SFFH| 10,000
HY2HIH (HHEESE) 128,240 123,600
U (NHHEE) 128,240 123,600
22U (NHHESED) 128,240 123,600
201 fet2E | 89,840 85,200
01 AF22t2l ] 42,840 38,200
OBt~ 19,600
O =&l 13,440
oL 60,0003 x1H 1202 7,200
ONsSA LABHSE Hel =2 2,600
02 3324l 47,000 47,000
0322 % MA 47,000
202 044l 33,600 33,600
01 SLHOYI 33,600 33,600
OJl=2ge=a0tl 33,600
203 ¥R =&l 4,800 4,800
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